
Név: _____________________________________________  Osztály: _____________ 

Iskola (ahonnan jöttél): _______________________________________________________ 

Felkészítő tanár neve: ________________________________________________________ 

Szeretettel köszöntünk a 102 éves Pécsi Janus Pannonius Gimnáziumban! 

 

MEGYEI ANGOL VERSENY (6. OSZTÁLY) 2014. 
 

Ellenőrizd, hogy a 7 oldal 6 feladattal maradéktalanul megvan-e! A feladatlapok 

kitöltéséhez csak tollat használhatsz. Ha bármit elrontanál, a javítást jelöld 

egyértelműen! Hibajavítót ne használj! Kérjük, hogy a munka megkezdése előtt 

figyelmesen olvasd el a feladatokat! 
 

A verseny időtartama 60 perc. 

 

I. Make 4 groups of words. Choose one word from each column to 
make a word group. There is an example for you. (20 X 0,5p= 10p) 

 
1 2 3 4 5 

rose Italy aeroplane apple T-shirt 

taxi Paris jeans Biology Rome 

organ daisy flour Australia mouthorgan 

China skirt daffodil butter bread 

sugar violin banana tram tulip 

Maths salt Music Moscow Germany 

shirt bus Budapest  violet  grape-fruit 

London  lemon piano  coat underground 

flute  P.E. England guitar History 

 

 COUNTRIES FLOWERS MUSICAL 
INSTRUMENTS 

CLOTHES TRANSPORT 

1. China 
    

2. Italy 
    

3. England 
    

4. Australia 
    

5. Germany  
    

 
  



 

II. Read this website and do the exercises below. (8p + 6p= 14p) 
 

 

 



 
III. A.  Complete the text with the words written in the dinosaur. (8p) 
 

Dinosaurs lived (1) __________________ of years ago. At that time the world was a 

very (2) __________________ place from what it is today. The (3) 

__________________ was much warmer. The Earth was covered with forests 

where strange-looking trees and plants grew and very funny-looking (4) 

__________________ roamed. There were no (5) __________________ like 

horses or dogs, birds or spiders. We know about dinosaurs because in the 19th 

century scientists found their (6) __________________. Later they put them 

together to make (7) __________________. From these bones they worked out the 

shapes and (8) __________________ of different dinosaurs. 

 

 

 

 
  



 

B. WRITE THE QUESTIONS ABOUT THE DINOSAURS TO THE 
ANSWERS. (6p) 

 

Q1: _____________________________________________________________  

A: It lived about 140 million years ago. 

Q2: _____________________________________________________________ 

A: It was a plant eater. 

Q3: _____________________________________________________________ 

A:It was about 25 metres long and 15 metres tall. 

Q4: _____________________________________________________________ 

A: It weighed about 80,000 kilos. 

Q5: _____________________________________________________________ 

A: It had a very large body and a very long neck. 

Q6: _____________________________________________________________ 

A: Because the climate changed. 

  



 

IV. Use one word to complete each space. Write the letters (A-N) to the 
boxes below. (14p) 

 

Penny is twenty-one. She’s a journalist on a magazine for (0) teenagers. 

I (1) _____ a journalist when I (2) _____ college last (3) _____. I saw an advert for 

this (4) _____ in the local newspaper and I was really (5) _____ when I got it. 

There’s a lot to do every day, but I’m a (6) _____ person, so I’m happy. I am often 

(7) _____ but life is never (8) _____. I travel to some (9) _____ places and I go 

clubbing in different cities. I (10) _____ photographs and I (11) _____ my 

adventures for the magazine. We are a small team on this magazine, so we (12) 

_____ all the work with our colleagues. Last week I (13) _____ my boss to (14) 

_____ some pages. That was fun. 

 

A. became F. exciting K. share 

B. boring G. finished L. summer 

C. describe H. hard-working M. take 

D. design I. helped N. teenagers 

E. excited J. job O. tired 

 

0. N 1. 
 

2. 
 

3. 
 

4. 
 

5. 
 

6. 
 

7. 
 

8. 
 

9. 
 

10. 
 

11. 
 

12. 
 

13. 
 

14. 
             

 
  



 

V. Read the text and underline the correct word for each space. (10p) 
 

TO THE TOP OF THE WORLD 

The coldest walk in the (0) _____ is probably the one Alan Chambers and Charlie 

Paton did a few years (1) _____ when they walked to the North Pole. To prepare 

for the trip they (2) _____ a day in a freezer at a temperature of -30 degrees. But 

they were more comfortable there than at the North Pole (3) _____ they weren’t 

tired or hungry! 

They began their 1,126 km walk (4) _____ 8 March 2000 and (5) _____ at the 

North Pole 70 days later. A plane took them straight home from there. 

Charlie had his 30th birthday (6) _____ during the trip and he was amazed when 

Alan gave him (7) _____ small cake with a candle on it. Alan said the (8) _____ 

moment for him was Charlie’s face when he (9) _____ that cake. 

The strange thing is that more men (10) _____ walked on the moon than to the 

North Pole. 

 

0.  A world B country C planet D earth 

1. A then B ago C since  D after 

2. A passed B stayed C spent D put 

3. A because B but C therefore D so 

4. A in B at C on D for 

5. A got B reached C went D arrived 

6. A celebration B anniversary C wedding D birthday 

7. A the B a C much D some 

8.  A greater B good C best D better 

9. A saw B looked C watched D realised 

10. A did B have C was D has 

  



 

VI. Look at the map and give directions. Complete the sentences. Use 
only one word in each gap. There is an example (0) for you. (6p) 

 

 

 

To get from the skateboard park to the railway station by car, (0) turn left when 

you come out of the skateboard park, go (1) ______________ on until you get to 

a (2) ______________. Turn right here and go (3) ______________ this road 

until you get to a (4) ______________. Turn left and go (5) ______________ a 

bridge. The railway station is (6) ______________ the left. 

 

RAILWAY STATION  

SKATEBOARD PARK 


